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Internet Service

NBtel charges a monthly fee of $20.00, and an additional $2.00 per hour. "\’?'?
Sprint charges a monthly fee of $10.00, and an additional $4.00 per hour. 0
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There are other ways to solve
Systems of Equations!
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Use Substitution to Find the Point of Intersection

X-4y:6 b"‘ You need to isolate x ory
7X + 6y =8 Q
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s\\“s\\\\\\\“\\ You need to isolate x or'y 2
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Wllﬂl “?? 8X-2y:—2 )& You need to isolate x or y
_ Ax+3y=1 1@
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Solve this system of equation by substitution.

y =®}& -3X -2y =0
-3x -2y=0 @ -3x -2(15+6x) = 0
-3x-30-12x =0
-3X -12x =0 +30
-15x = 30
X = -2
D
Subin X=2 Yy = 15+6x
y =15+ 6(-2)
y=15 -12
y=3
(-2’3)
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Solve the system by Substitution Method
.oSolveforx ., x=3-2y
Xx+2y=3 X +5y=8

-+ = 3(3-2y) + 5y =8
3X Sy 8 9-6y+5y=8
-6y +5y=8-9

y=1 -y =-1
D

x+2y =3
x+2(1)=3
x +2 =3
X =3-2
X =1

(1,1)
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